Solutions Problem Set #3 – Answers
1. 0.533 mol/dm3

2. 0.217 mol/dm3

3. 0.107 mol/dm3

4. [Fe2+] = 1.15 mol/dm3; [Cl-] = 2.30 mol/dm3

5. [Ca2+] = 0.025 mol/dm3; [SO42-] = 0.040 mol/dm3; [Na+] = 0.030 mol/dm3

6. [Mg2+] = 0.500 mol/dm3; [NO3-] = 1.05 mol/dm3; [Pb4+] = 0.0172 mol/dm3

7. [Cl-] = 1.04 mol/dm3
8. 87.8 g

Mole Review – Answers

1. A. 185.31g/mol

b) 20.01 g/mol

c)98.00g/mol

d) 83.00g/mol

e) 234.85 g/mol

f) 171.35 g/mol

g) 262.19 g/mol

2.  A) 151.00g
b) 1.1 x 10-9g
c) 6.80g

d) 5.76g

3.  12.48 dm3
4. 1802 tablets

5. 1.25 g/dm3
6. 10.6 cm3
7. 5.418 x 1020 molecules

8. SO3
9. CH4
10. C3H8
11. Na2Cr2O7
12. C6H14
13. C2H2
14. NO2
15. 0.388 mol/dm3
16. 0.65 mol/dm3
17. 5.35g

18. 1.10 mol/dm3
19. 28.83 dm3
20. An atom is a single particle of an element, made up of protons, neutrons, and electrons.  A molecule is a particle of a compound, made up of two or more atoms.
